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BEARMREZKERZEZERIE (52 ITK)
HEFEE BX
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1. BE/KEHMEKL






1-1. BEXKEMH -






B Kk B & # 6150
% g 2N B # 2 EE
i | EF [ 5-1[5-2|53|5-4]|55]10-1]10-2|n%&| &
E/K AN VIFLVE
EFRZES ¢ 150 x 5, 000 A | 500 55| 64| 51| 43| 22| 41| 78 354| 1770.00
E/K AN VIFLVE
EF7° L-vIvh BEE ¢ 150 x 5, 000 A | 5.00 19 19| 84.65
Eo/K AN VIFLE
EFfm®ZF—X $150% 75 @ | 0.50 2 2 1 5 2.50
EK AR VIFLVE
EFEZ 75 F—X|d150% ¢ 75 & | 0.52 1 1 2 1.04
EKAR VIFLVE
EFEZA Y K ¢ 150 x 90° & | 0.66 2 2 1.32
EK AR VIFLVE
EFEZA Y K ¢ 150 x 45° 8 | 0.46 4 4 4 12 5.52
E/K AN VIFLVE
EFESAY K d150%22° 1/2 8 | 0.38 5 5 1.90
E/K AN VIFLE
EFFZAU R ¢ 150 x 45° & | 0.62 4 4 8 4.96
ER/K AN VIFLVE
EFEZSRU R & 150 x H300 @ | 1.03 1 1 1.03
EK AR VIFLVE
EFV 4y ¢ 150 & 5 4 6| 4 1 20
AH=HLC3A v+ |[HPPE-HPPE
vy k @150 & 2 1 3
AA=HALCaA >+ [HPPE-VP
BEERE ¢ 150 x 100 & 2 2
AAZALFEYY T HPPE ¢ 1508 & 1 1
PEfLOM
VT =Lt ¢ 150 FCD 7.5K | 1.02 2 2 1 2 1 8 8.16
Hy#eE B2k DPO. 60m EES 3| {E 2 2 1 2 7
SHNARE
PEFEL O TFE | p150%x ¢ 75 7.5K & | 0.93 2 2 1 5 4. 65
ISUTE ¢ 1508 & 2 2 1 5
TRFFH
TXEOENE 7.5K =
2ETESS $13 7.5K = 1 1 2
R—ILE (L/A—R)
wER 7.5K H=100 = 1 1 2
HMEASE ¢ 600 8
TRIFRARS ¢ 600 A 1 1 2
HEEY Y ¢ 600 x L50 & 1 1 2
LoavmRy sy A1 | $600xL300 & 1 1 2
Lyarmyy RER | $600xL40 & 1 1 2
TS UCHEAM ¢75 RF7.5K #8 1 1 2
TS UTHEAM ¢75 GF7.5K #8 2 2 1 1 6
MHRER

5t | 1885.73




ek ®150 EKAPE JL—2IT K L=5.0m
(9 150)

= = 9% &t RE kT

1 1.37 3.58 4.950 m| 0.050 m 20
5-1 9-2

2 4.07( 0.83 4.900 m| 0.100 m 20
5-1 9-2

3 1.76] 2.25 4.010 m| 0.990 m 20
9-2 9-2 9-2

4 1.26] 1.54] 2.06 4860 m| 0.140 m 30
9-2 9-2 9-2 -4

) 1.00] 1.25] 1.54] 0.98 4770 m| 0.230 m 40
-4

6 4.51 4.510 m| 0.490 m 1A
-4 -4

1 3.101 1.11 4.210 m| 0.790 m 20
-4 -4 -4

8 0.83( 1.52 2.09 4.440 m| 0.560 m 30
-4

9 4.83 4.830 m| 0.170 m 1A
-4 9-5

10 3.48] 1.05 4.530 m| 0.470 m 20
5-5 5-9

11 3.92] 1.15 4.670 m| 0.330 m 20
9-9

12 4.05 4.050 m| 0.950 m 1A
9-9 10-2

13 2.46| 2.12 4.580 m| 0.420 m 20
9-5

14 5.00 5.000 m
10-2

15 4. 41 4.410 m| 0.590 m 1A
10-2

16 4.20 4.200 m| 0.800 m 1A
10-2 | 5-5

17 2.92] 1.00 3.920 m|[ 1.080 m 20
10-2 | 5-5

18 3.35| 1.00 4.350 m| 0.650 m 20
10-2

19 3. 46 3.460 m | 1.540 m 1A

84.650 m |10. 350 m 34 0O
)

ARE (¢p150x5,000)

19X




B K & M # @75
£ £ iV NOB % " o = _ EE
fr | ER [5-1]|52[5-3]|54[55]|% i

BL/KAK VIFLVE

EFA2EE @75 x5, 000 A [ 5.00 1 1 5.00

BLKAT VIFLVE

EF7" L-vIvh EE @75 x5, 000 X 1 4. 81

BLKAT VIFLVE

EFv &y bk @75 1@ 3 3

AAZANFrv T HPPE ¢ 758 {& 1 1

PEf LA

VI bk —LiEI# @75 FCD 7.5K | 078 1 1 0.78

TURE EZsk A DPO. 60m & 1& 1 1

<ERED#H>

B A VIFLVE

EFfZF—X ®150% ¢ 75 @ | 0.40] 2[ 2 5 2.00

HHREER

[ 12.59




PEEER ¢75 EKAPE JL—2TI 2K L=5.0m

(¢ 175)
9% F RE Ik T
5-2 5-2

1 2.80] 2.01 4.810 m| 0.190 m

20

4.810 m| 0.190 m

op

i A (¢p715x5,000)




BB K B M #0650
% b NS 7 % L £ _ EE
i1 | ERK [ 5-1|5-2|53]|54]|55|4] B
ER/K AN VIFLE
EFF2EE ®50x5, 000 . 5.00 10 10 50. 00
ER/K AR VIFLE
EF7° L-vivh B ®50x5, 000 . 6 23.94
ER/K AR VIFLE
EFmZA2 K ¢ 50 x 45° & 0.22 1 1 0.22
ER/K AN VIFLE
EFRZA2 K $50x%x22° 1/2 & 0.18 1 1 0.18
ER/K AN VIFLE
EFFZARUF ¢ 50 x 45° & 0.27 1 1 0.27
Bk Bf VIFLVE
EFFZLTa—Y @75 %50 & 0.34 2 1 1 4 1.36
ER/K AN VIFLE
EFV 45y b+ @50 & 5 3 2 10
AhZHhLFyy T HPPE ¢ 50/ e 2 1 1 4
PE#LOM
VI ho—IILiEtlF @50 FCD 7.5K = 0. 68 2 1 1 4 2.72
TUHE E2sk A DPO. 60m FEA 3£ & 2 1 1 4
HHER
[ 78.69




&R ¢50 EIKEAPE JL—>I 2K L=5 0m
($50) _

ZUE B RE Y T
5-1 5-1
2. 88 1.88 4.760 m| 0.240 m 20
5-2
5.00 5.000 m
5-4 5-1
2.317 1.27 3.640 m| 1.360 m 20
5-1
3.58 3.580 m| 1.420 m 10
5-2
3.96 3.960 m| 1.040 m 10
5-1
3.00 3.000 m| 2.000 m 10

23.940 m | 6.060 m 70

op

ARE (¢50x5,000)

6 &




B2 K & F I ® 150
£ 1 RAR~Ti& B | #= BE
02
T

UIFLV BB T 150 m | 1877.6/1885.73 - 8.16
FUIFLVEHET ¢ 150 EEhiE [E5l300 20

FVIFLVEH#FT ¢ 150 g A 415

+IFLVE I T ¢ 150 ] 34

AHDZHILBFET ¢ 150 a 9

AN=ZHILWFET ® 100 ] 2

TUIHHRET ¢ 150 H 8

FRERBET At El3 8
O5—F42974%— m 18717.6

SCHRT—JT ®150 W=30mm m | 1877.6

HHR—FI W=150mm & JJL m 18717.6

BEKEAER T ¢ 150 m 1885.7

MFME-H AR

ISUSHMET 75 7.5K | 8

ERARET d25LLF - 2

WERHET 75 B )

ERAEHET @ 600 #H 2




L K & 5 & ¢ 15
£

FR AR ~Ti% B| %= =
3L
ARIIES
T IRV ETRET @15 m 11.8( 12.59 - 0.78
K UIFLVEHFT @75 Hahg &R 3
FUIFLVEMFE T 75 BmhE A 1
F VIRV EYIT @75 O 2
AN AIIBFT @15 O 1
tORFET @15 & 1
FEFZET & # R 1
Br—F42774%— m 11.8
EHRT—JT @75 W=30mm m 11.8
EHR—FT W=150mm # )L m 11.8

BKEHERT o115 m 12.6




fie K & 5 50
£

R RAK~TiE B %= e
fi
Tt
A UIFLYE R T ¢ 50 m 76.0| 78.69 - 2.72
T UIFLE#MF T ¢ 50 BRLE ERT 10
FYIFLVERET ®75 BEE = 4
K IR ERET ¢ 50 BRhIE A 15
T VIRV EYIT ¢ 50 O 1
ANZHLBFT ¢ 50 =] 4
tOHEFEET ¢ 50 % 4
FEFET & ERT 4
Br—T4 2774 v— m 76.0
ERRET—JT 50 W=30mm m 76.0
ERRY—FT W=150mm & J )L m 76.0

BKEHERT ¢ 50 m 18.7







1-2.fd/KELT






IERLER R

s | i L XAy | R a | mgg| k] 5-1 [ 52 | 53 | 54 [ 55 | 10-1 | 10-2 3EE &t
@ [k |WLE| AS [ 150( 0.90 [290.68]338.47]255.00(228.15] 141.35[205.00/413.90| 1872.55
@ |tk |WaE| AS [150( 1.20 9.04 9.04
@ [k VB AS [ 150 2.70 7.24 7.24
@ |tk |RaE| AS| 75 0.90 [ 0.80] 7.40 0.40 8.60
® Btk || As | 75 | 0.90 3.99 3.99
® |tk |JRaE| AS| 50 | 0.90 [ 11.42| 7.36 1.55 20.33
@ |Bgtk  |HiE| CcO| 50 | 0.90 [ 6.18] 4.96 1.85 12.99
Btk [MiE[ AS | 50 | 0.60 | 50.60 50.60




¢ 150+ ¢ 75 ¢ 5Omm

T+ T #

I\

i &

Bt D EBIIEUYEIEAEC IO DI D

%

=

4 . N L ==X AN =
LA i/ A OB B K| BT o ) e @ 6 ® @ S
(eIl As t=20cmlL T 3,945
m [3745.1 18.1 14.5 17.2 8.0 40.7 101.2] 3,945
(eIl Co t=15cmbL T 26
m 26.0 26
BRI TR OV |t=15cmPL T 8
A - BEA BHO0.28 i 7.7 8
BRI T OV |t=10cmPL T 1,188
A - BHA BH0.28 ni [11235 81 6.5 5.1 2.3 12.1 30.3| 1,188
NIRRT R OY [t=10cmPL T
JH - FEIA BHO0.08 m
P H T BHO0.28 1,348
ru—FHEN 2 R m3 [1269.5 12.0 19.3 5.3 2.5 12.3 4.7 22.2] 1,348
PRI T BHO0.08
=780 AR m3
e R T (1L#p)  |BHO.28 639
ru—FHEN 2 R m3 | 604.8 45 3.6 24 1.1 55 3.5 13.9] 639
MmO T (1L#)  |BHO0.08
Ja—=7HE0 A% KR m3
MO T ()  [RC—40 BHO0.28 366
ru—FHEN 2 R m3 | 337.0 4.8 13.6 1.5 09 3.6 1.1 3.0 366
MMM R T (Ff7) |RC—40 BHO0.08
Ja—=7HEN A% R | m3
R B T (384 12)|BHO0.28
Ja—=7HEN A% R | m3
R B T (384 12)|BHO0.08
=7 PN A% R | m3
kAT RC—40 1,155
t=25cm m [1123.5 81 6.5 5.1 12.1 1,155
kAT M—30 33
t=17cm i 2.3 30.3 33
T AT 7 VNS 1A T | R AR R 33
t=3cm i 2.3 30.3 33
T AT 7 VNS 1A T | R AR R 1,155
t=5cm m [1123.5 81 6.5 5.1 12.1 1,155
a7 —MEZEEIH T |t=10cm 8
i 7.7 8
ki g SN t=10cm
n
BER LSy 1 As#HZ BH0.28 59
10t% 7 m3| 562 04 0.3 03 01 06 0.9 59
BERF ALy T AsZZ  BH0.08
MHHE LT m3
BER ALy T Co#< BHO0.28 1
10t% 7 m3 1.2 1
sy T BH0.28 1,348
A m3 [1269.5 12.00 19.3 53 25 12.3 4.7 22.2| 1,348
Ay T BH0.08
I AA m3




» 150mm + T ¥ F F
B0 EBIFEERE IV ASH DD
4D (\ [l o B Ay i& % A =
% Rk A OB B K| BT o ) e S
(eIl As t=20cmlL T 3,778
m [3745.1 18.1 14.5 3,778
YW T Co t=15cmPLF
m
SRAEITIEIE T RO [t=15cmPL T
FEH - BHA BHO0.28 i
BHAERRRE TR OV [t=10cmEL T 1,138
HEHI - FDHA BHO0.28 m [1123.5 8.1 6.5 1,138
NIRRT R OY [t=10cmPL T
JH - FEIA BHO0.08 m
P H T BHO0.28 1,301
Jo—HE0 A K| m3 [1269.5  12.0  19.3 1,301
PRI T BHO0.08
=780 AR m3
PR T.(1U4)  [BHO.28 613
Jo—7 40 2 | m3 | 604.8 4.5 3.6 613
MmO T (1L#)  |BHO0.08
Ja—=7HE0 A% KR m3
MO T ()  [RC—40 BHO0.28 355
yo—7 40 2 A m3 | 337.00 4.8 13.6 355
MMM R T (Ff7) |RC—40 BHO0.08
Ja—=7HEN A% R | m3
FEAHE AR T (3842 12)|BHO0.28
Ja—=7HEN A% R | m3
R B T (384 12)|BHO0.08
=7 PN A% R | m3
kAT RC—40 1,138
t=25cm m 11235 8.1 6.5 1,138
kAT M—30
t=17cm n
T AT 7 VNS 1A T | R AR R
t=3cm n
T AT 7 VNS 1A T | R AR R 1,138
t=>5cm m 11235 8.1 6.5 1,138
a7 —MEZEEIH T |t=10cm
m
ki g SN t=10cm
m
BER LSy 1 AsAZ  BH0.28 57
10t7 7 m3| 56.2 04 0.3 57
BERF ALy T AsZZ  BH0.08
WHE T m3
BER LSy T Co#< BHO0.28
10t% 7 m3
Ay T BHO0.28 1,301
ME T m3 [1269.5 12.0] 19.3 1,301
ety T BH0.08
I AA m3




¢ 75mm + T 8B 5 *
B0 EBIFEERE IV ASH DD
7N 2 ORI . B H A
% Rk A OB B K| BT @ ® &
RGN T As t=20cmlL T
m | 17.2 8.0
YW T Co t=15cmPLF
m
SRAEITIEIE T RO [t=15cmPL T
FEH - BHA BHO0.28 i
SRAEITIEIE T RO [t=10cmLPL T
A - BHA BHO0.28 n 5.1 2.3
NIRRT R OY [t=10cmPL T
JH - FEIA BHO0.08 m
PEH T BHO0.28
Jo—=74eh A% R | m3 5.3 2.5
PRI T BHO0.08
=780 AR m3
MmO T (1L#)  |BHO0.28
Jo—78h A% | m3 2.4 1.1
MmO T (1L#)  |BHO0.08
Ja—=7HE0 A% KR m3
PR T (Ff7) |RC—40 BHO0.28
Jo—=78h A% R | m3 1.5 0.9
MMM R T (Ff7) |RC—40 BHO0.08
Ja—=7HEN A% R | m3
R B T (384 12)|BHO0.28
Ja—=7HEN A% R | m3
R B T (384 12)|BHO0.08
=7 PN A% R | m3
V=) RC—40 5
t=25cm n 5.1 5
e A T M—30 9
t=17cm n 2.3 2
T AT 7 VN IR | PR AR o
t=3cm n 2.3 2
T AT 7 VNG IR | PR AR 5
t=5cm nt 5.1 5
a7 —MEZEEIH T |t=10cm
m
ki g SN t=10cm
m
BERF ALy T AsAZ  BH0.28
10t7 7 m3 0.3 0.1
BERF ALy T AsZZ  BH0.08
MHHE LT m3
BER LSy T Co#< BHO0.28
10t% 7 m3
Ay T BH0.28
104 m3 5.3 2.5
Ay T BH0.08
I AA m3




¢ 50mm + T 8B 5 *
B0 EBIFEERE IV ASH DD
. ) . H &= PN
% Rk A OB B K| BT ® @ .-
EHAE O T As t=20cmPL T 142
m | 40.7 101.2 142
AL T Co t=15cmPLF 2
m 26.0 26
SRAEITIEIE T RO [t=15cmPL T 3
PEH - FEIA BHO0.28 n 7.7 8
EEE A T Je &Y [t=10cmELF 19
PH - FEIA BHO0.28 n | 12.1 30.3 42
NIRRT R OY [t=10cmPL T
JH - FEIA BHO0.08 m
P H T BHO0.28 39
pu=FHEN 2R m3 | 12.3 4.7 22.2 39
JEH T BHO0.08
=780 AR m3
PR T.(1U4)  [BHO.28 93
Jo—78h A% | m3 5.5, 3.5 13.9 23
MmO T (1L#)  |BHO0.08
Ja—=7HE0 A% KR m3
B R T (W)  |[RC—40 BHO.28 3
Jo—=78h A% R | m3 3.6 1.1 3.0 8
MMM R T (Ff7) |RC—40 BHO0.08
Ja—=7HEN A% R | m3
FEAHE AR T (3842 12)|BHO0.28
Ja—=7HEN A% R | m3
R B T (384 12)|BHO0.08
=7 PN A% R | m3
T T RC—140 12
t=25cm m | 12.1 12
e A T M—30 30
t=17cm i 30.3 30
T AT 7 VN IR | PR AR 20
t=3cm i 30.3 30
T AT 7 VNG IR | PR AR 12
t=5cm m | 12.1 12
a7 —MEZEEIH T |t=10cm 3
i 7.7 8
ki g SN t=10cm
m
FER A5y T As#HZ BH0.28 D)
10t7 7 m3 0.6 0.9 2
BERF ALy T AsZZ  BH0.08
WHE T m3
BER ALy T Co/'Z BHO0.28 1
10t% 7 m3 1.2 1
sy T BH0.28 39
ME T m3 | 123 4.7 22.2 39
ety T BH0.08
I AA m3




i TIER L= 1872.55 m
N5 == St : S
+ T % & i H F Wil Ashits PE_ 6 150
+#0=0.9 m
@) mE S
e 600 -
| | |
* 503 BEATE iﬂ?—ftfz.‘%iEAs 503 4 4
i
: RC-40 250 | 300
i v
I A
i
i
i
I
: RC-40 300 900
1180 : 1180
1130 i 880
I
i Y
|
: ; 300
AR
i
i ¥ 2
D 180}{_
v v ! ¢ 150 100 v
i
% R O & = X N7 B ¥ &
m34Y ot
AR BT T t= 5cm 1.000 X 2 m | 2.000 3745.1
ES AN t= 5cm 0.600 < 1.000 m2 | 0.600 1123.5
0.600 X 1.000 X 0.050 m3| 0.030 56.2
FEAR R 1) T 0.600 X 1.130 X 1.000 m3| 0.678 1269.5
LD B T ( 0.600 X 0.580 — 7 4 X 0.180 °
X 1.000 m3| 0.323 604.8
Fef #E T (RC-40) 0.600 X 0.300 X 1.000 m3| 0.180 337.0
oA T t= 25cm 0.600 X 1.000 m2| 0.600 1123.5
0.600 X 1.000 X 0.250 m3| 0.150 280.8
# B T t= 5cm 0.600 X 1.000 m2| 0.600 1123.5
0.600 X 1.000 X 0.050 m3 | 0.030 56.1
BERF LSy T ERTE R A TS m3| 0.030 56.2
Ay T P B 1 T2 m3| 0.678 1269.5




i TAER L= 9.04 m
M A E 5 /“A“ N N
+ T % & i B E Wi AsHiE PE 6150
T#HV=1.2 m
©) WE S
y 900 .
| | |
4+ 50y BETrAE | F/EBREAS 50y “ 1
A |
} RC-40 250 | 300
i v
[ A
i
!
|
!
: RC-40 600 1200
1311 g 1480
1200 2 1180
i A 4
|
: 300
i AW
|
g 430 | 3 |
v 605 t O 180}
| 5150 100}
i
% Ok & T X HAL| & ¥ &
m340 2R
ELE IR BT T t= 5em 1.000 X 2 m | 2.000 18.1
ES N t= 5em 0.900 X 1.000 m2 | 0.900 8.1
0.900 X 1.000 X 0.050 m3 | 0.045 0.4
B AR E I T ( 0.900 X 1.480 — =/ 4 X 0.0605 > )
X 1.000 m3| 1.329 12.0
LSRR T ( 0.900 X 0580 — =/ 4 X 0.180 °*
X 1.000 m3| 0.500 4.5
e R T (RC-40) 0.900 X 0.600 X 1.000 m3| 0.540 4.8
Bz T t= 25cm 0.900 X 1.000 m2 | 0.900 8.1
0.900 X 1.000 X 0.250 m3| 0.225 2.0
# B L t= 5em 0.900 X 1.000 m2| 0.900 8.1
0.900 X 1.000 X 0.050 m3| 0.045 0.4
BER ALy T A TS IR A T m3| 0.045 0.4
AT Fh IR T8 E m3| 1.329 12.0




i CAER L= 7.24 m
e = = St : .
+ T éﬁ I==N ﬁ+ L= % JLE Astlids PE ¢ 150
+#0=2.7 m
©) EURE
€ 900 .
| | |
1 so0y BEFFERLE | FIAEBIRLEAS 50y rr
|
| RC-40 250 | 300
| \4
|
1200 :
1311 :
: RC-40 2700
2980 : 2980
; ¢?_0\ : 2680
60.5"E ( Yoo 2100
= |
|
|
|
|
i
! 300
: ﬁ/‘ta@ PEE—— A v
O |—=f
L 5150 100}
i
% b S &t " = HNL| e o o&
m34Y AR
ERAERR O T t= 5cm 1.000 X 2 m 2.000 14.5
SR AR T t= 5cm 0.900 X 1.000 m2 | 0.900 6.5
0.900 X 1.000 X 0.050 m3| 0.045 0.3
AR T ( 0.900 X 2.980 — x4 X 0.0605 > )
X 1.000 m3| 2.679 19.3
LSRR T ( 0.900 X 0.580 — x4 X 0.180 *
X 1.000 m3 | 0.500 3.6
We # R T (RC-40) 0.900 X 2.100 X 1.000 m3| 1.890 13.6
B o T t= 25cm 0.900 X 1.000 m2 | 0.900 6.5
0.900 X 1.000 X 0.250 m3| 0.225 1.6
*x B L t= 5cm 0.900 X 1.000 m2 | 0.900 6.5
0.900 X 1.000 X 0.050 m3 | 0.045 0.3
BER ALy T GIEITU AR 6 m3| 0.045 0.3
sy T A b B 1) B m3| 2.679 19.3




i TIER L= 8.60 m
M == St : %
+ T %% = i H E Wil Astid PE 675
+#0=0.9 m
@ R
e 600 -
| | |
+ 50% BEfEEHSE | H/EBRIEAS 503 4 4
i
: RC-40 250 | 300
i v
I A
i
i
i
I
: RC-40 300 900
1090 : 1090
1040 i 790
I
i Y
i
: ; 300
AR
i
i ¥ *
) e S
v v ! 75 100 v
i
% R O = "o KX HA7| o ¥ &
m34Y ot
AR BT T t= 5cm 1.000 X 2 m | 2.000 17.2
ES AN t= 5cm 0.600 < 1.000 m2 | 0.600 5.1
0.600 X 1.000 X 0.050 m3| 0.030 0.3
FEAR R 1) T 0.600 X 1.040 X 1.000 m3| 0.624 5.3
LD B T ( 0.600 X 0.490 — x4 X 0.090 °
X 1.000 m3| 0.288 2.4
Fef #E T (RC-40) 0.600 X 0.300 X 1.000 m3| 0.180 1.5
oA T t= 25cm 0.600 X 1.000 m2| 0.600 5.1
0.600 X 1.000 X 0.250 m3| 0.150 1.2
# B T t= 5cm 0.600 X 1.000 m2| 0.600 5.1
0.600 X 1.000 X 0.050 m3 | 0.030 0.2
BERF LSy T ERTE R A TS m3| 0.030 0.3
Ay T P B 1 T2 m3| 0.624 5.3




i TIER L= 3.99 m
M == St e =
+ T ¥ = 3 B E il AshisE PE 075
+#0=0.9 m
(® mE S
e 600 -
| | |
+ 303 BEfEEHSE | H/EBRIEAS 304 [ [
i
: M-30 170 | 200
i v
I A
i
i
i
I
: RC-40 400 900
1090 : 1090
1060 i 890
I
i Y
i
: ; 300
AR
i
i ¥ 2
) Ny
v v ! ¢ 75 100 v
i
% R Ok & = X HA7| o ¥ &
m34Y ot
AR BT T t= 3cm 1.000 X 2 m | 2.000 8.0
ES AN t= 3cm 0.600 < 1.000 m2 | 0.600 2.3
0.600 X 1.000 X 0.030 m3| 0.018 0.1
PR 1 T 0.600 X 1.060 X 1.000 m3| 0.636 2.5
LD B T ( 0.600 X 0.490 — x4 X 0.090 °
X 1.000 m3| 0.288 1.1
Fef #E T (RC-40) 0.600 X 0.400 X 1.000 m3 | 0.240 0.9
% & T.(M-30) t=17cm 0.600 X 1.000 m2| 0.600 2.3
0.600 X 1.000 X 0.170 m3| 0.102 0.4
# B T t= 3cm 0.600 X 1.000 m2| 0.600 2.3
0.600 X 1.000 X 0.030 m3| 0.018 0.0
BERF LSy T ERTE R A TS m3| 0.018 0.1
Ay T P B 1 T2 m3| 0.636 2.5




i TIER L= 20.33 m
N5 == St : %
+ T %% = i H E Wil AstidE PE 650
+#0=0.9 m
(® R
e 600 -
| | |
* 502 BEATE iﬂ?—ftfz.‘%iEAs 503 4 4
i
: RC-40 250 | 300
i v
I A
i
i
i
I
: RC-40 300 900
1063 : 1063
1013 i 763
I
i Y
|
: ; 300
AR
i
i 1 *
) 3
v v ! 950 100 v
i
% R O & = X HA7| o ¥ &
m34Y ot
AR BT T t= 5cm 1.000 X 2 m | 2.000 40.7
ES AN t= 5cm 0.600 < 1.000 m2 | 0.600 12.1
0.600 X 1.000 X 0.050 m3| 0.030 0.6
FEAR R 1) T 0.600 X 1.013 X 1.000 m3| 0.608 12.3
LD B T ( 0.600 X 0.463 — 7/ 4 X 0.063 °
X 1.000 m3| 0.275 5.5
Fef #E T (RC-40) 0.600 X 0.300 X 1.000 m3| 0.180 3.6
oA T t= 25cm 0.600 X 1.000 m2 | 0.600 12.1
0.600 X 1.000 X 0.250 m3| 0.150 3.0
# B T t= 5cm 0.600 X 1.000 m2| 0.600 12.1
0.600 X 1.000 X 0.050 m3 | 0.030 0.6
BERF LSy T ERTE R A TS m3| 0.030 0.6
Ay T P B 1 T2 m3| 0.608 12.3




i TIER L= 12.99 m
M == St . 8
+ T %% = 5 B # Tl Cobfiis PE 650
+#0=0.6 m
@ Wl R
e 600 -
| | |
* 1504 REfEAHEE  Colfid: 150 4 4
i A
i
i
i
i
i
i
i
|
: RC-40 150 600
763 : 763
613 i
!
| v
|
: ; 300
AR
i
i ¥ *
) 3
v A 4 ! ¢ 50 100
i
% R Ok & = X HA7| o ¥ &
m34Y ot
AR BT T t= 15cm 1.000 X 2 m | 2.000 26.0
ES AN t= 15cm 0.600 < 1.000 m2 | 0.600 7.7
0.600 X 1.000 X 0.150 m3 | 0.090 1.2
PR 1 T 0.600 X 0.613 X 1.000 m3| 0.368 4.7
LD B T ( 0.600 X 0.463 — 7/ 4 X 0.063 °
X 1.000 m3| 0.275 3.5
Fef #E T (RC-40) 0.600 X 0.150 X 1.000 m3 | 0.090 1.1
# B T t= 15cm 0.600 X 1.000 m2| 0.600 7.7
0.600 X 1.000 X 0.150 m3 | 0.090 1.1
BER ALy T ESI AR ey m3| 0.090 1.2
Ay T P B 1 T2 m3| 0.368 4.7




i TIER L= 50.60 m
M =T St e =
+ T %% = 5 B # Tl AsHidE PE 650
+#0=0.6 m
iui: U 3
e 600 -
| | |
+ 303 BEfEEHSE | H/EBRIEAS 303 [ [
i
: M-30 170 | 200
i v
I A
i
i
i
!
: RC-40 100 600
763 : 763
733 i 563
I
i Y
i
: ; 300
L OFER
i
i ¥ 2
) Yy
v v ! ¢ 50 100 v
i
& Ok & = X N7 BB ¥ &
m34Y ot
AR BT T t= 3cm 1.000 X 2 m | 2.000 101.2
ES AN t= 3cm 0.600 < 1.000 m2 | 0.600 30.3
0.600 X 1.000 X 0.030 m3| 0.018 0.9
PR 1 T 0.600 X 0.733 X 1.000 m3 | 0.440 22.92
LD B T ( 0.600 X 0.463 — 7/ 4 X 0.063 °
X 1.000 m3| 0.275 13.9
Fef #E T (RC-40) 0.600 X 0.100 X 1.000 m3 | 0.060 3.0
% & T.(M-30) t=17cm 0.600 X 1.000 m2| 0.600 30.3
0.600 X 1.000 X 0.170 m3| 0.102 5.1
# B T t= 3cm 0.600 X 1.000 m2| 0.600 30.3
0.600 X 1.000 X 0.030 m3| 0.018 0.9
BERF LSy T ERTE R A TS m3| 0.018 0.9
Ay T P B 1 T2 m3 | 0.440 22.2
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fifEes (M7 o70) SS400 FAma—h
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V7R — A5 FCD#u
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RG]y (4120 X 2520 ) X 2 = 20.765 m 20.7
SRR 4,120 X 2.520 = 10.382 m2 10
IR R - ALEE 10.382 X 0.05 = 0.519 m’ 0.5
PR IR T 4120 X 2520 X 2.395 = 24.866 m’ 24
Ty as MR T AR 4120 X 2520 X 1500 = 15.574
3.120 X 1.520 X 1.30 = 6.166 @ (B
0.857 + 0.286 = 1.143 @ (FER)
v= O-0-0
= 15.574 — 6.165 — 1.143 = 8.266 m’ 8
HAERGHRET 4120 X 2520 X 0.395 = 4.101 Q@
3.120 X 1.520 X 0.40 = 1.873 @ (FERR)
v=0-@-B= 4.101 — 1.873 = 2.228 m’ 2
BT RC-10 4120 X 2.520 = 10.382 m2 10
t=25cm
FIET (ASIRIEH) t=bcm 4120 X 2.520 = 10.382 m2 10
7% ALy 1 m° 24
e LR T t=150 3.320 X 1.720 = 5.710 m 5
RC40~0 3.320 X 1.720 X 0.15 = 0.857 m’ 0.8
YjLar 7)) — il ( 3.320 X 1.720 ) X 2 X 0.050 = 0.571 | m2 0.5
a Y —RL 18-8-25BB 3.320 X 1.720 X 0.06 = 0.286 m’ 0.2
BREMRAEAT  [h=2.50
~3.00 4120 X 2.520 = 10.382 m 10.3
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RERUIFLUE

B EMTFIORE $150 (h/N—ET) #8 4 4
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FEE  HRAHEE

AE (Fa)

B Sas A 0. 90 m
LB . 0 3. B it 15
(=g HPPE Al o) As—15cmPL T 240 m /H
(=gia (2 ZRB0) — SR A 10cmLh 810 m2/H
[mE2S 150 mm P (R AK3E-(LAE0. 28m3[FAK0. 20m3] 43 m3/H
mF2S (2 &) — mm HE L (W) AKGE-ILIHO. 28m3 (& o/ SHR[E) 33 m3/H
EIMER 0.18 m HEREL Wer) AR 41 m2/H
EIMER (2 ZRBLE) 0 m % T KIBE-NF1-t =50 250 m2/H
AT RR A 0.10 A/m R REAR T ORI KGE-1. Sm AR 222 m2/H
A (2 55E) 0.00 AN/m b AR T (L) 0 m2/H
2. T - EhEEREAL AEIRT (As)  TAR-HA-EHE-1. 4mP) L 2300 m2/H
AR 0.60 m A IR T (Co) 0 m3/H
ETHZ]IRZS 1.18 m 4. T - GEETHE(Q0mMHY)
b L= 0.10 m EliZE I AR Y T 6.00 m2
HRLE (#5) 0.58 m SR T 7.08 m3
HRELE (A1) 0.30 m Y IR T 0.60 m3
Gl 0.05 m HELTL (%) 3.23 m3
LiEgaE  (RC-40) 0.25 m HRELL (Fet) 1.80 m3
LlEgaE (R E L) m {2 T 6.00 m2
LIEazE  CRIRAA) m SRAERRIENEI T ORIE IR 0.00 m?2
LiEaE (R E ) m A 1 T (ARIEIREE - RIFREA) m3
AIEIH)E (AsE#ZE) m g A T ChrFit) 0.00 m2
EN N BN (CokiZE) m g AR T (5 22 TEALER) 0.00 m2
ENAEL m BT (AsEH%E) 0.00 m2
AEIA (E%0 = ST (Cofii%E) m3
SRR (1LEIE . (EIRE) 2 R 5. ZZiW 5 B AN Ak 2 A
SRR (2B H. AR ZS 6. H IR R 1872.55 m
@10m¥Y Y THRAKDOHEM
LR UM T (1[EIH, {RIEHEF)  10.00m X 24 <+ 240.00m= 0.08 H
SRR PR T 6.00m2 <+ 810.00m2/H = 0.01 H
R L 7.08m3 <+ 43.00m3/H = 0.16 [
BAE T 10.00m <+ (4A/H =+ (0.10 + 0.00) A/m)= 0.25 H
Wb EEE T 0.60m3 <+ 33.00m3/H= 0.02 H
HRLTL (%) 3.23m3 <+ 33.00m3/H= 0.10 H
A (FeA) 1.80m3 =+ 41.00m3/H = 0.04 H
g T 6.00m2 <+ 250.00m2/H = 0.02 H
HEEAREIWT T (2B H. AEIRR 0 0.00 H
EREERREEI T ORTEIRIE) 0.00m2 <+ 810.00m2/H= 0.00 [
BRI T ORIEIARE - Bigiken) 0 0 H
bR T ChraRiea) 0.00m2 <+ 41.00m2/H X 2/@= 0.01 H
FREEET (EELE0AE) 0 0.00 H
AEIHT (AsHliZE) 0 0.00 H
EiE L (CokizE) 0 A
& Fr 0.69 H
H & 10m <+ 0.69H= 14.49 m/H
it T H %k 1,872.6m-14. 49n 129. 23 130 H
RBHFEEESK 1308 X2A= 258. 46 260 A




FHEA KEAHE

AE (Fa)

£

=

B Sas A 1. 20 m
LB . 0 3. B it 15
(=g HPPE Al o) As—15cmPL T 240 m /H
(=gia (2 ZRB0) — SR A 10cmLh 810 m2/H
[mE2S 150 mm P (R AK3E-(LAE0. 28m3[FAK0. 20m3] 43 m3/H
mF2S (2 &) — mm HE L (W) AKGE-ILIHO. 28m3 (& o/ SHR[E) 33 m3/H
EIMER 0.18 m HEREL Wea) oR—/INER 41 m2/H
EIMER (2 ZRBLE) 0 m % T KIBE-NF1-t =50 250 m2/H
AT RR A 0.10 A/m R REAR T ORI KGE-1. Sm AR 222 m2/H
A (2 55E) 0.00 AN/m b AR T (L) 0 m2/H
2. T - EhEEREAL AEIRT (As)  TAR-HA-EHE-1. 4mP) L 2300 m2/H
AR 0.60 m A IR T (Co) 0 m3/H
£ EURES 1.48 m 4. +T  EETHEE(OmYS DY)
b L= 0.10 m EliZE I AR Y T 6.00 m2
HRLE (#5) 0.58 m SR T 8.88 m3
HRELE (A1) 0.60 m Y IR T 0.60 m3
Gl 0.05 m HELTL (%) 3.23 m3
LiEgaE  (RC-40) 0.25 m HRELL (Fet) 3.60 m2
LlEgaE (R E L) m {2 T 6.00 m2
LIEazE  CRIRAA) m SRAERRIENEI T ORIE IR 0.00 m2
LiEaE (R E ) m A 1 T (ARIEIREE - RIFREA) m3
AIEIH)E (AsE#ZE) m g A T ChrFit) 0.00 m2
EN N BN (CokiZE) m g AR T (5 22 TEALER) 0.00 m2
ENAEL m BT (AsEH%E) 0.00 m2
AEIA (E%0 = ST (Cofii%E) m3
SRR (1LEIE . (EIRE) 2 R 5. ZZiW 5 B AN Ak 2 A
SRR (2B H. AR ZS 6. H IR R 9.04 m
@10m¥Y Y THRAKDOHEM
LR UM T (1[EIH, {RIEHEF)  10.00m X 24 <+ 240.00m= 0.08 H
SRR PR T 6.00m2 <+ 810.00m2/H = 0.01 H
R L 8.88m3 <+ 43.00m3/H= 0.21 {
BAE T 10.00m <+ (4A/H =+ (0.10 + 0.00) A/m)= 0.25 H
Wb EEE T 0.60m3 <+ 33.00m3/H= 0.02 H
HRLTL (%) 3.23m3 <+ 33.00m3/H= 0.10 H
A (FeA) 3.60m3 <+ 41.00m3/H= 0.09 H
g T 6.00m2 <+ 250.00m2/H = 0.02 H
RO T (2EIH., ARMEIHE 0 0.00 H
EREERREEI T ORTEIRIE) 0.00m2 <+ 810.00m2/H= 0.00 [
BRI T ORIEIARE - Bigiken) 0 0 H
bR T ChraRiea) 0.00m2 <+ 41.00m2/H X 2/@= 0.01 H
FREEET (EELE0AE) 0 0.00 H
AEIHT (AsHliZE) 0 0.00 H
EiE L (CokizE) 0 A
& Fr 0.79 H
H & 10m <+ 0.79H= 12.66 m/H
Jiti T H 4% 9.0m~+12.66m/H 0.71 1A
REFEEEK 1A X2A= 1. 43 2 A




ZliEE e ERTRE-S

AE (Fa)

B Sas A 2.70 m
LB . 0 3. B it 15
(=g HPPE Al o) As—15cmPL T 240 m /H
(=gia (2 ZRB0) — SR A 10cmLh 810 m2/H
[mE2S 150 mm P (R AK3E-(LAE0. 28m3[FAK0. 20m3] 43 m3/H
mF2S (2 &) — mm HE L (W) AKGE-ILIHO. 28m3 (& o/ SHR[E) 33 m3/H
EIMER 0.18 m HEREL Wer) AR 41 m2/H
EIMER (2 ZRBLE) 0 m % T KIBE-NF1-t =50 250 m2/H
AT RR A 0.10 A/m bR AR T ORI AKIE-1. 8m AR 222 m2/H
A (2 55E) 0.00 AN/m b AR T (L) 0 m2/H
2. T - EhEEREAL AEIRT (As)  TAR-HA-EHE-1. 4mP) L 2300 m2/H
AR 0.60 m A IR T (Co) 0 m3/H
£ EURES 2.98 m 4. +T  EETHEE(OmYS DY)
b L= 0.10 m EliZE I AR Y T 6.00 m2
MR U (15) 0.58 m PRE T 17.88 m3
HRELE (A1) 2.10 m Y IR T 0.60 m3
Gl 0.05 m HELTL (%) 3.23 m3
LiEgaE  (RC-40) 0.25 m HRELL (Fet) 12.60 m2
LlEgaE (R E L) m {2 T 6.00 m2
LIEazE  CRIRAA) m SRAERRIENEI T ORIE IR 0.00 m2
LiEaE (R E ) m A 1 T (ARIEIREE - RIFREA) m3
AIEIHE (AsHli%E) m g A T ChrFit) 0.00 m2
EN N BN (CokiZE) m g AR T (5 22 TEALER) 0.00 m2
ENAEL m BT (AsEH%E) 0.00 m2
AEIA (E%0 = ST (Cofii%E) m3
SRR (1LEIE . (EIRE) 2 R 5. ZZiW 5 B AN Ak 2 A
SRR (2B H. AR ZS 6. H IR R 7.24 m
@10m¥Y Y THRAKDOHEM
LR UM T (1[EIH, {RIEHEF)  10.00m X 24 <+ 240.00m= 0.08 H
SRR PR T 6.00m2 <+ 810.00m2/H = 0.01 H
R L 17.88m3 <+ 43.00m3/H = 0.42 H
BAE T 10.00m <+ (4A/H =+ (0.10 + 0.00) A/m)= 0.25 H
Wb EEE T 0.60m3 <+ 33.00m3/H= 0.02 H
HRLTL (%) 3.23m3 <+ 33.00m3/H= 0.10 H
A (FeA) 12.60m3 <+ 41.00m3/H= 0.31 H
g T 6.00m2 <+ 250.00m2/H = 0.02 H
HEEAREIWT T (2B H. AEIRR 0 0.00 H
EREERREEI T ORTEIRIE) 0.00m2 <+ 810.00m2/H= 0.00 [
BRI T ORIEIARE - Bigiken) 0 0 H
bR T ChraRiea) 0.00m2 <+ 41.00m2/H X 2/@= 0.01 H
FREEET (EELE0AE) 0 0.00 H
AEIHT (AsHliZE) 0 0.00 H
EiE L (CokizE) 0 A
& Fr 1.22 H
H & 10m + 1.22H= 8.20 m/H
Jiti T H 4% 7.2m—=8.20m/H = 0.88 1A
REFEEEK 1A X2A= 1.77 2 A




FHEA KEAHE

AE (Fa)

oy

=

B Sas A 0. 90 m
LB . 0 3. B it 15
(=g HPPE Al o) As—15cmPL T 240 m /H
(=gia (2 ZRB0) — SR A 10cmLh 810 m2/H
[mE2S 75 mm P (R AK3E-(LAE0. 28m3[FAK0. 20m3] 43 m3/H
mF2S (2 &) — mm HE L (W) AKGE-ILIHO. 28m3 (& o/ SHR[E) 33 m3/H
EIMER 0.09 m HEREL Wea) oR—/INER 41 m2/H
EIMER (2 ZRBLE) 0 m % T KIBE-NF1-t =50 250 m2/H
AT RR A 0.06 A/m R REAR T ORI KGE-1. Sm AR 222 m2/H
A (2 55E) 0.00 AN/m b AR T (L) 0 m2/H
2. T - EhEEREAL AEIRT (As)  TAR-HA-EHE-1. 4mP) L 2300 m2/H
AR 0.60 m A IR T (Co) 0 m3/H
£ EURES 1.09 m 4. +T  EETHEE(OmYS DY)
b L= 0.10 m EliZE I AR Y T 6.00 m2
HRLE (#5) 0.49 m SR T 6.54 m3
HRELE (A1) 0.30 m Y IR T 0.60 m3
Gl 0.05 m HELTL (%) 2.88 m3
LiEgaE  (RC-40) 0.25 m HRELL (Fet) 1.80 m2
LlEgaE (R E L) m {2 T 6.00 m2
LIEazE  CRIRAA) m SRAERRIENEI T ORIE IR 0.00 m2
LiEaE (R E ) m A 1 T (ARIEIREE - RIFREA) m3
AIEIH)E (AsE#ZE) m g A T ChrFit) 0.00 m2
EN N BN (CokiZE) m g AR T (5 22 TEALER) 0.00 m2
ENAEL m BT (AsEH%E) 0.00 m2
AEIA (E%0 = ST (Cofii%E) m3
SRR (1LEIE . (EIRE) 2 R 5. ZZiW 5 B AN Ak 2 A
SRR (2B H. AR ZS 6. H IR R 8.60 m
@10m¥Y Y THRAKDOHEM
LR UM T (1[EIH, {RIEHEF)  10.00m X 24 <+ 240.00m= 0.08 H
SRR PR T 6.00m2 <+ 810.00m2/H = 0.01 H
R L 6.54m3 <+ 43.00m3/H= 0.15 [
BAE T 10.00m <+ (4A/H =+ (0.06 + 0.00) A/m)= 0.15 H
Wb EEE T 0.60m3 <+ 33.00m3/H= 0.02 H
HRLTL (%) 2.88m3 + 33.00m3/H= 0.09 H
A (FeA) 1.80m3 =+ 41.00m3/H = 0.04 H
g T 6.00m2 <+ 250.00m2/H = 0.02 H
HEEAREIWT T (2B H. AEIRR 0 0.00 H
EREERREEI T ORTEIRIE) 0.00m2 <+ 810.00m2/H= 0.00 [
BRI T ORIEIARE - Bigiken) 0 0 H
bR T ChraRiea) 0.00m2 <+ 41.00m2/H X 2/@= 0.01 H
FREEET (EELE0AE) 0 0.00 H
AEIHT (AsHliZE) 0 0.00 H
EiE L (CokizE) 0 A
& Fr 0.57 H
H & 10m <+ 0.57H= 17.54 m/H
Jiti T H 4% 8.6m-=17.54m/ H 0. 49 1A
REFEEEK 1A X2A= 0.98 2 A




FHEA KEAHE

AE (Fa)
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B Sas A 0. 90 m
LB . 0 3. B it 15
(=g HPPE Al o) As—15cmPL T 240 m /H
(=gia (2 ZRB0) — SR A 10cmLh 810 m2/H
[mE2S 75 mm P (R AK3E-(LAE0. 28m3[FAK0. 20m3] 43 m3/H
mF2S (2 &) — mm HE L (W) AKGE-ILIHO. 28m3 (& o/ SHR[E) 33 m3/H
EIMER 0.09 m HEREL Wea) oR—/INER 41 m2/H
EIMER (2 ZRBLE) 0 m % T KIBE-NF1-t =50 250 m2/H
AT RR A 0.06 A/m R REAR T ORI KGE-1. Sm AR 222 m2/H
A (2 55E) 0.00 AN/m b AR T (L) 0 m2/H
2. T - EhEEREAL AEIRT (As)  TAR-HA-EHE-1. 4mP) L 2300 m2/H
AR 0.60 m A IR T (Co) 0 m3/H
£ EURES 1.09 m 4. +T  EETHEE(OmYS DY)
b L= 0.10 m EliZE I AR Y T 6.00 m2
HRLE (#5) 0.49 m SR T 6.54 m3
HRELE (A1) 0.40 m Y IR T 0.60 m3
Gl 0.05 m HELTL (%) 2.88 m3
LiEgaE  (RC-40) 0.25 m HRELL (Fet) 2.40 m2
LlEgaE (R E L) m {2 T 6.00 m2
LIEazE  CRIRAA) m SRAERRIENEI T ORIE IR 0.00 m2
LiEaE (R E ) m A 1 T (ARIEIREE - RIFREA) m3
AIEIH)E (AsE#ZE) m g A T ChrFit) 0.00 m2
EN N BN (CokiZE) m g AR T (5 22 TEALER) 0.00 m2
ENAEL m BT (AsEH%E) 0.00 m2
AEIA (E%0 = ST (Cofii%E) m3
SRR (1LEIE . (EIRE) 2 R 5. ZZiW 5 B AN Ak 2 A
SRR (2B H. AR ZS 6. H IR R 3.99 m
@10m¥Y Y THRAKDOHEM
LR UM T (1[EIH, {RIEHEF)  10.00m X 24 <+ 240.00m= 0.08 H
SRR PR T 6.00m2 <+ 810.00m2/H = 0.01 H
R L 6.54m3 <+ 43.00m3/H= 0.15 [
BAE T 10.00m <+ (4A/H =+ (0.06 + 0.00) A/m)= 0.15 H
Wb EEE T 0.60m3 <+ 33.00m3/H= 0.02 H
HRLTL (%) 2.88m3 + 33.00m3/H= 0.09 H
A (FeA) 2.40m3 <+ 41.00m3/H= 0.06 [
g T 6.00m2 <+ 250.00m2/H = 0.02 H
HEEAREIWT T (2B H. AEIRR 0 0.00 H
EREERREEI T ORTEIRIE) 0.00m2 <+ 810.00m2/H= 0.00 [
BRI T ORIEIARE - Bigiken) 0 0 H
bR T ChraRiea) 0.00m2 <+ 41.00m2/H X 2/@= 0.01 H
FREEET (EELE0AE) 0 0.00 H
AEIHT (AsHliZE) 0 0.00 H
EiE L (CokizE) 0 A
& Fr 0.59 H
H & 10m <+ 0.59H= 16.95 m/H
Jiti T H 4% 4.0m-=16.95m/H 0.24 1A
REFEEEK 1A X2A= 0. 47 2 A




REFHEE  HEREE6
A4 ()
B Sas A 0. 60 m
LB . 0 3. B it 15
(=g HPPE Al o) As—15cmPL T 240 m /H
(=gia (2 ZRB0) — SR A 10cmLh 810 m2/H
[mE2S 50 mm P (R AK3E-(LAE0. 28m3[FAK0. 20m3] 43 m3/H
mF2S (2 &) — mm HE L (W) AKGE-ILIHO. 28m3 (& o/ SHR[E) 33 m3/H
EIMER 0.063 m HEREL Wea) oR—/INER 41 m2/H
EIMER (2 ZRBLE) 0 m % T KIBE-NF1-t =50 250 m2/H
AT RR A 0.06 A/m bR AR T ORI AKIE-1. 8m AR 222 m2/H
A (2 55E) 0.00 AN/m b AR T (L) 0 m2/H
2. T - EhEEREAL AEIRT (As)  TAR-HA-EHE-1. 4mP) L 2300 m2/H
AR 0.60 m AR (Co)  ANTIFIER (HEAT; - BRAH) 4 m3/H
£ EURES 0.76 m 4. +T  EETHEE(OmYS DY)
b L= 0.10 m LSRR EI T 6.00 m2
HRLE (#5) 0.46 m SR T 4.58 m3
HRELE (A1) m b ELHE T 0.60 m3
Gl 0.03 m HELTL (%) 2.75 m3
LIERARIE CRIGRAEA) 0.17 m HRELL (Fet) 0.00 m2
LlEgaE (R E L) m {2 T 6.00 m2
LIEazE  CRIRAA) m SRAERRIENEI T ORIE IR 0.00 m?2
LiEaE (R E ) m A 1 T (ARIEIREE - RIFREA) m3
AIEIHE (AsHli%E) m g A T ChrFit) 0.00 m2
EN N BN (CokiZE) m g AR T (5 22 TEALER) 0.00 m2
ENAEL m BT (AsEH%E) 0.00 m2
AEIH UE%0 = AligE T (Cotiizk) 0.00 m3
SEEAREIWTEL (LEIE . (UEIAR) 2 R 5. ZZiW 5 B AN Ak 2 A
SRR (2B H. AR ZS 6. H IR R 20.33 m
@10m¥Y Y THRAKDOHEM
LR UM T (1[EIH, {RIEHEF)  10.00m X 24 <+ 240.00m= 0.08 H
SRR PR T 6.00m2 <+ 810.00m2/H = 0.01 H
R L 4.58m3 <+ 43.00m3/H= 0.11 {
BAE T 10.00m <+ (4A/H =+ (0.06 + 0.00) A/m)= 0.15 H
Wb EEE T 0.60m3 <+ 33.00m3/H= 0.02 H
HRLTL (%) 2.75m3 + 33.00m3/H= 0.08 H
HELT (Fet) 0 H
g T 6.00m2 <+ 250.00m2/H = 0.02 H
HEEAREIWT T (2B H. AEIRR 0 0.00 H
SREEARIEE T ORI IRIE) 0.00 H
BRI T ORIEIARE - Bigiken) 0 0 H
bR T ChraRiea) 0.00m2 <+ 222.00m2/H X 1fg= 0.01 H
FREEET (EELE0AE) 0 0.00 H
AEIHT (AsHliZE) 0 0.00 H
SLET (Cotiizk) 0.00m2 <+ 4.00m2/H= 0.00 H
& Fr 0.48 H
H & 10m <+ 0.48H= 20.83 m/H
Jiti T H 4% 20.3m+20.83m/ | 0.98 1A
REFEEEK 1A X2A= 1.95 2 A




FHEA KEAHE

AE (Fa)

#-7

=

B Sas A 0. 90 m
LB . 0 3. B it 15
(=g HPPE Al o) As—15cmPL T 240 m /H
(=gia (2 ZRB0) — SR A 10cmLh 810 m2/H
[mE2S 50 mm P (R AK3E-(LAE0. 28m3[FAK0. 20m3] 43 m3/H
mF2S (2 &) — mm HE L (W) AKGE-ILIHO. 28m3 (& o/ SHR[E) 33 m3/H
EIMER 0.063 m HEREL Wea) oR—/INER 41 m2/H
EIMER (2 ZRBLE) 0 m % T KIBE-NF1-t =50 250 m2/H
AT RR A 0.06 A/m R REAR T ORI KGE-1. Sm AR 222 m2/H
A (2 55E) 0.00 AN/m b AR T (L) 0 m2/H
2. T - EhEEREAL AEIRT (As)  TAR-HA-EHE-1. 4mP) L 2300 m2/H
AR 0.60 m A IR T (Co) 0 m3/H
£ EURES 1.06 m 4. +T  EETHEE(OmYS DY)
b L= 0.10 m EliZE I AR Y T 6.00 m2
HRLE (#5) 0.46 m SR T 6.38 m3
HRELE (A1) 0.10 m Y IR T 0.60 m3
Gl 0.05 m HELTL (%) 2.73 m3
LIERARIE CRIGRAEA) 0.25 m HRELL (Fet) 0.60 m2
LlEgaE (R E L) m {2 T 6.00 m2
LIEazE  CRIRAA) m SRAERRIENEI T ORIE IR 0.00 m2
LiEaE (R E ) m A 1 T (ARIEIREE - RIFREA) m3
AIEIH)E (AsE#ZE) m g A T ChrFit) 0.00 m2
EN N BN (CokiZE) m g AR T (5 22 TEALER) 0.00 m2
ENAEL m BT (AsEH%E) 0.00 m2
AEIA (E%0 = ST (Cofii%E) m3
SRR (1LEIE . (EIRE) 2 R 5. ZZiW 5 B AN Ak 2 A
SRR (2B H. AR ZS 6. H IR R 12.99 m
@10m¥Y Y THRAKDOHEM
LR UM T (1[EIH, {RIEHEF)  10.00m X 24 <+ 240.00m= 0.08 H
SRR PR T 6.00m2 <+ 810.00m2/H = 0.01 H
R L 6.38m3 <+ 43.00m3/H= 0.15 [
BAE T 10.00m <+ (4A/H =+ (0.06 + 0.00) A/m)= 0.15 H
Wb EEE T 0.60m3 <+ 33.00m3/H= 0.02 H
HRLTL (%) 2.73m3 + 33.00m3/H= 0.08 H
A (FeA) 0.60m3 <+ 41.00m3/H= 0.01 H
g T 6.00m2 <+ 250.00m2/H = 0.02 H
RO T (2EIH., ARMEIHE 0 0.00 H
EREERREEI T ORTEIRIE) 0.00m2 <+ 810.00m2/H= 0.00 [
BRI T ORIEIARE - Bigiken) 0 0 H
bR T ChraRiea) 0.00m2 <+ 41.00m2/H X 2/@= 0.01 H
FREEET (EELE0AE) 0 0.00 H
AEIHT (AsHliZE) 0 0.00 H
EiE L (CokizE) 0 A
& Fr 0.53 H
H & 10m <+ 0.53H= 18.87 m/H
Jiti T H 4% 13.0m—+18.87m/F 0. 69 1A
REFEEEK 1A X2A= 1. 38 2 A




e E  HEertEE-S
A4 ()
B Sas A 0. 60 m
LB . 0 3. B it 15
(=g HPPE Al o) As—15cmPL T 240 m /H
(=gia (2 ZRB0) — SR A 10cmLh 810 m2/H
[mE2S 50 mm P (R AK3E-(LAE0. 28m3[FAK0. 20m3] 43 m3/H
mF2S (2 &) — mm HE L (W) AKGE-ILIHO. 28m3 (& o/ SHR[E) 33 m3/H
EIMER 0.063 m HEREL Wea) oR—/INER 41 m2/H
EIMER (2 ZRBLE) 0 m % T KIBE-NF1-t =50 250 m2/H
AT RR A 0.06 A/m R REAR T ORI KGE-1. Sm AR 222 m2/H
A (2 55E) 0.00 AN/m b AR T (L) 0 m2/H
2. T - EhEEREAL AEIRT (As)  TAR-HA-EHE-1. 4mP) L 2300 m2/H
AR 0.60 m A IR T (Co) 0 m3/H
£ EURES 0.76 m 4. +T  EETHEE(OmYS DY)
b L= 0.10 m EliZE I AR Y T 6.00 m2
HRLE (#5) 0.46 m SR T 4.58 m3
HRELE (A1) 0.10 m Y IR T 0.60 m3
Gl 0.03 m HELTL (%) 2.73 m3
LIERARIE CRIGRAEA) 0.17 m HRELL (Fet) 0.60 m2
LlEgaE (R E L) m {2 T 6.00 m2
LIEazE  CRIRAA) m SRAERRIENEI T ORIE IR 0.00 m2
LiEaE (R E ) m A 1 T (ARIEIREE - RIFREA) m3
AIEIH)E (AsE#ZE) m g A T ChrFit) 0.00 m2
EN N BN (CokiZE) m g AR T (5 22 TEALER) 0.00 m2
ENAEL m BT (AsEH%E) 0.00 m2
AEIA (E%0 = ST (Cofii%E) m3
SRR (1LEIE . (EIRE) 2 R 5. ZZiW 5 B AN Ak 2 A
SRR (2B H. AR ZS 6. H IR R 50. 60 m
@10m¥Y Y THRAKDOHEM
LR UM T (1[EIH, {RIEHEF)  10.00m X 24 <+ 240.00m= 0.08 H
SRR PR T 6.00m2 <+ 810.00m2/H = 0.01 H
R L 4.58m3 <+ 43.00m3/H= 0.11 {
BAE T 10.00m <+ (4A/H =+ (0.06 + 0.00) A/m)= 0.15 H
Wb EEE T 0.60m3 <+ 33.00m3/H= 0.02 H
HRLTL (%) 2.73m3 + 33.00m3/H= 0.08 H
A (FeA) 0.60m3 <+ 41.00m3/H= 0.01 H
g T 6.00m2 <+ 250.00m2/H = 0.02 H
RO T (2EIH., ARMEIHE 0 0.00 H
EREERREEI T ORTEIRIE) 0.00m2 <+ 810.00m2/H= 0.00 [
BRI T ORIEIARE - Bigiken) 0 0 H
bR T ChraRiea) 0.00m2 <+ 41.00m2/H X 1jg= 0.01 H
FREEET (EELE0AE) 0 0.00 H
AEIHT (AsHliZE) 0 0.00 H
EiE L (CokizE) 0 A
& Fr 0.49 H
H & 10m <+ 0.49H= 20.41 m/H
Jiti T H 4% 50. 6m+20. 41m/ [ 2. 48 3 H
REFEEEK 3A X2 A= 4.96 6 A




